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 32 T-I    ,uz;L kzpj;jpahyk;; 

  Rl;nlz;:-……………………. 

  rupahdJ vd cWjpg;gLj;Jfpd;Nwd;. 
 ………………………………. 
  Nehf;Fdu; xg;gk;;

guPl;rfupd; cgNahfjpw;F khj;jpuk; 

gFjp tpdh Gs;sp 

   1A 

  1B 

 1 

 2 
 3 

 4 

 5 

 nkhj;jk; 

 Kf;fpak; 

➢ ,t;tpdhj;jhs; 8 gf;fq;fisf;nfhz;lJ. 

➢ ,g;gf;fj;jpYk; %d;whk; gf;fj;jpYk; Fwpj;j ,lq;fspy; 
ckJ Rl;nlz;izj; jpUj;jkhf vOJf. 

➢ vy;yh tpdhf;fSf;Fk;  
,t;tpdhj;jhspNyNa  tpil   vOJf.  

➢ tpilfisg; ngWk; tpjj;ijf; fhl;Ltjw;F 
fPNo tplg;gl;Ls;s ,lj;ijg; gad;gLj;Jf. 

➢  tpdhf;fSf;F tpil vOJk;NghJ cupa 
gbKiwfisAk; rupahd myFfisAk; fhl;Lf. 

➢ fPo; Fwpg;gpl;lthW Gs;spfs; toq;fg;gLk;  
➢ gFjp 1A  ,y; cs;s  25 tpdhf;fSf;Fk; 

  2 Gs;spfs; tPjk; 50 Gs;spfstoq;fg;gLk;. 

➢ gFjp 1B  ,y; cs;s 5 tpdhf;fSf;Fk;  
10Gs;spfs; tPjk; 50 Gs;spfs; toq;fg;gLk;. 

    ,uz;lhk; guPl;rfu; 
  …………………… 

    Kjyhk; guPl;rfu; 
  …………………… 

khfhzf;fy;tpj; jpizf;fsk; 
tlf;F khfhzk;

gapw;rpg; guPl;ir – 02  

fzpjk;;; f.ngh.j. rhjhuzjuk; 2024 (2023)
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gFjp A 

1) &gh 250 ngWkjpAila 1kg rPdpf;F 18% ngWkjpNru; tup mwtplg;gLfpd;wJ vdpd;

( VAT tup) tupAld; rPdpapd; tpiyiaf; fhz;f?

2) cUtpy; juTfSf;Nfw;g 𝑥0 ,d; gUkidf; fhz;f?

3) fhuzpg;gLj;Jf.  𝑥2 − 81   

4) 5.46 = 100.7372  I klf;if tbtpy; vLj;Jiuf;f.

5) xU juTj;njhFjpapd; Kjyhk; fhyiz Ie;jhtJ <l;bd; ngWkhdkhFk; vdpd; mj;juTj;  
njhFjpapy; vj;jid <l;Lf;fs; cs;sd?

6) xU tl;lj;jpypUe;J Xu; Miur;rpiw ntl;lg;gLfpd;wJ. rpwpa Miur;rpiwapd; gug;gstpw;Fk;>
ngupa Miur;rpiwapd; gug;gstpw;Fk; ,ilapyhd tpfpjk; 4 : 11 vdpd;> rpwpa Miur;rpiwapd;
Miur;rpiwf; Nfhzj;ijf; fhz;f?

7) cUtpy; Xu; miutl;lk; jug;gl;Ls;sJ. Vida juTfis mtjhdpj;J

𝐵�̂�𝐷 ,d; gUkidf; fhz;f?

8) n(A) = 20, n(A’) = 4,  n(A∩ 𝐵′) = 14 vdpd; tupg;glj;jpy; epow;wg;gl;l
   gpuNjrj;jpy; ,Uf;Fk; %yfq;fspd; vz;zpf;ifiaf; fhz;f? 
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9) RUf;Ff.  
5𝑥2

𝑦3 ÷
10𝑥

3𝑦2  

 
 
 
 
 
 
 
 

10) cUtpy; 𝐴𝐵 = 𝐶𝐷, 𝐵�̂�𝐶 = 𝐷�̂�𝐸 MFk;. ∆𝐴𝐵𝐶, ∆𝐶𝐷𝐸 vd;gd g.Nfh.g  
   vd;w epge;jidapy; xUq;fpirtjw;F nghUj;jkhd njhlu;gpd; fPo; fPwpLf.  
 

i) 𝐴𝐷 = 𝐷𝐸 

ii) 𝐴�̂�𝐶 = 𝐶�̂�𝐸 

iii) 𝐴𝐶 = 𝐶𝐸 
 
 
 
 

11) 2 cos 𝜃 = 1 vdpd; 𝜃 ,d; gUkidf; fhz;f? 
 
 
 
 
 
 

12) 𝐴 = (    2
−1

)  ,     𝐵 = (−2   3)  ,          𝐴𝐵 = (
𝑥 6
2 𝑦

) vdpd; 𝑥, 𝑦 ,d; ngWkhdq;fisf; fhz;f? 

 
 
 
 
 
 
 

13) cUtpy; 𝐴𝐵 = 8𝑐𝑚,   𝐵𝐶 = 6𝑐𝑚,   𝐶𝐷 = 11𝑐𝑚,     𝐴�̂�𝐶 = 𝐷�̂�𝐹 = 900                  
vdpd; ngupa Kfj;jpd; gug;gsitf; fhz;f? 

 
 

 

 

 

 

14) ngUf;fy; tpUj;jp xd;wpd; 10 Mk; cWg;G 3 × 59 MFk;. 3Mk;  
 cWg;igf; fhz;f?  
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15) O it ikakhf cila tl;lj;jpy; AD MdJ E tiu ePl;lg;gl;Ls;sJ.  

   𝐶�̂�𝐸 = 1150  vdpd; 𝐷�̂�𝑂 + 𝐷�̂�𝑂 ,d; gUkidf; fhz;f? 

 

 

 

 

 

 

16) gpd;tUk; njhlu;Gfspy; rupahd njhlu;Gf;F vjpNu √ milahsKk;> gpioahd 

   njhlu;Gf;F vjpNu × milahsKk; ,Lf. 

i) √20   ≥   2√5     

ii)√20 + √5   =  √25             

iii)√20 − √5   =  √5      

 

 

17) jPu;f;f.  
1

𝑥
−

1

2𝑥
=

1

6
 

 

 

 

 

18) xU NtiyahdJ 6 ehl;fspy; 6 kdpju;fshy; nra;a cj;Njrpf;fg;gl;Ls;sJ. ,Ue;jNghJk; kio 
fhuzkhf 2 ehl;fs; jhkjkhfj; njhlq;fg;gl;L kPjp ehl;fspy; nra;J Kbf;fg;gl;lJ vdpd; 
NkYk; vj;jid kdpju;fs; Njitg;gl;ldu;?  

 

 

19) cUtpy; Neu;NfhL 𝐴𝐸 ahdJ Gs;sp 𝐵 ,y; tl;lj;ijj; njhLfpd;wJ. 

   𝐴𝐷 = 𝐵𝐷, 𝐵�̂�𝐷 = 290 vdpd; 𝐶�̂�𝐷 If; fhz;f?  
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20) 7𝑐𝑚 MiuAila jpz;kf;Nfhsj;jpd; fdtstpd; vj;jid klq;F> 14𝑐𝑚 MiuAila jpz;kf; 

Nfhsj;jpd; fdtsthFk;? ( r MiuAila jpz;kf; Nfhsj;jpd; fdtsT=
4

3
𝜋𝑟3MFk;.) 

 

 

 

 

21) 𝐴, 𝐵 vd;gd rhuh epfo;r;rpfshf ,Uf;f 𝑃(𝐴) =
1

3
 , 𝑃(𝐵) =

2

3
 vdpd; 𝑃(𝐴 ∩ 𝐵) If; fhz;f? 

 

 

 

22) cUtpy; cs;s jfty;fSf;Nfw;g gpd;tUk; njhlu;Gfspy; rupahd njhlu;Gf;F 

 vjpNu √ milahsKk;> gpioahd njhlu;Gf;F vjpNu × milahsKk; ,Lf. 
 

i) ∆𝐴𝐵𝐶 , ∆𝑃𝑄𝑅 ,ay;nghj;jit.  
 

𝑖𝑖)       𝐴𝐵
𝑃𝑅⁄ = 𝐴𝐶

𝑃𝑄⁄       MFk;. 

 
iii)       𝐴𝐵 ,d; eLg;Gs;sp R MFk;. 

 

 

23)  2𝑦 = 4𝑥 + 4  vd;w Neu;Nfhl;Lf;Fr; rkhe;jukhfTk;> (0, −2) vd;w Gs;spapD}lhfTk; nry;Yk; 
Neu;Nfhl;bd; rkd;ghl;il vOJf. 

 
 
 
 

24) rPuhd fjpapy; nry;Yk; Ng&e;J xd;W 12 epkplj;jpy; 10𝑘𝑚 nry;fpd;wJ. ,Nj rPuhd fjpapy; 

75𝑘𝑚 nry;tjw;F vj;jid kzpj;jpahyq;fs; vLf;Fk;? 
 
 
 
 
 
25) 𝐴𝐵𝐶 vd;gJ 25𝑚 MiuAila fhy;tl;l ePr;ry; jlhfkhFk;. tpy; 𝐵𝐶 ,d; eLg;Gs;spapypUe;J> 

𝐴𝐶 f;F rkhe;jukhf 𝐴𝐵 tiu ePupDs; Neuhf xU fapW fl;l Ntz;bAs;sJ. xOf;Ffs;  
njhlu;ghd mwpitg; gad;gLj;jp mjid gUk;gbahf tiuf. 
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gFjp B 

1) xU fpuhkj;jpd; epyj;jpd; 
3

5
 tptrhak; nra;Ak; epykhFk;. vQ;rpaJ kf;fs; trpg;gpl epykhFk;.   

tptrha epyj;jpd; 
2

3
 ,y; ntq;fhak; gapuplg;gLfpd;wJ. 

 
            i)   ntq;fhak; gapuplg;gLk; epyg;gFjp KOtjpd; vd;d gpd;dkhFk;? 
 
 
 
          ii)  tptrha epyj;jpd; vQ;rpa gFjp KOtjpd; vd;d gpd;dkhFk;? 
 
 
 

          iii)  vQ;rpa tptrha epyj;jpd; 
3

4
 ,y; kuf;fwp gapuplg;gLfpd;wJ vdpd; kuf;fwp gapuplg;gLk;     

epyg;gFjp KOtjpd; vd;d gpd;dkhFk;? 
 
 
 
 
          iv)  kf;fs; trpg;gpl epyg;gFjpAk;> gapuplg;glhj tptrha epyg;gFjpAk; 360 n`f;Nuau; vdpd;> 

    mf;fpuhkj;jpd; KO epyKk; vj;jid n`f;Nuau; gug;gsthFk;? 
 
 
 
 
 

(2 + 2 + 2 + 4 = 10 Gs;spfs; ) 
 

2) cUthdJ miu tl;l tbtg; G+q;fhitf;Fwpf;fpd;wJ. ,q;F Kf;Nfhzg;gFjp tpisahl;Lj; 
jpliyAk;> Vida gFjp Gw;wiuiaAk; ( epow;wg;gl;l gFjp ) Fwpf;fpd;wJ.  

,q;F  𝐴𝐶 = 28𝑚, 𝐵𝐶 = 21𝑚 MFk;. 
 

             i)    𝐴�̂�𝐵 ,d; gUkd; ahJ? fhuzk; jUf? 

  

            ii)   𝐴𝐵 ,d; ePsj;ijf; fhz;f?  

   ( rhil:28 = 4 × 7, 21 = 3 × 7) 

 

           iii) tpisahl;Lj; jplypd; gug;gsitf; fhz;f? 

 

 

 

          iv) Gw;wiuapd; gug;gsitf; fhz;f?                                                                               

   (2 + 2 + 2 + 4 = 10 Gs;spfs;) 
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3).a. xUtu; jdJ tPl;il &gh 4000 khj thliff;Ff; nfhLf;fpd;whu;. 

          i)   Xu; Mz;bd; Kbtpy; mtUf;Ff; fpilf;Fk; thlif tUkhdj;ijf; fhz;f? 

 

 

         ii)  Mz;L thlif tUkhdj;jpy; &gh 3000 I ,iwtupahfr; nrYj;Jfpd;whu;.  

      efurig 8% Mz;L ,iwtupia mwtpLfpd;wJ vdpd; tPl;bd; Mz;L 
      kjpg;gpl;l ngWkhdj;ijf; fhz;f? 
 

 

 

b. xUtupd; Mz;L tUkhdj;jjpd; Kjy; &gh 1 200 000 w;F tUkhd tup tpyf;F   

mspf;fg;gLfpd;wJ. mLj;j &gh 600 000 w;F 4% ck;> mLj;j &gh 600 000 w;F  

  8% ck;> mLj;j &gh 600 000 w;F 12% ck; tUkhd tup mwtplg;gLfpd;wJ. 
 

    i)  &gh 1 600 000 Mz;L tUkhdk; ngWk; egnuhUtu; nrYj;j Ntz;ba tUkhd  
      tupiaf;  fhz;f? 

 

 

ii)  xUtu; &gh 32 000 I tUkhd tupahfr; nrYj;Jfpd;whu; vdpd; mtupd; Mz;L 
tUkhdj;ijf; fhz;f?  

 

 

                                                                                                                       (2 + 3 + 2 + 3 = 10 Gs;spfs;) 

4) a)  xU Jg;ghf;fp RLk; Nghl;bapd; ,yf;F mUfpy; fhl;lg;gl;Ls;sJ. 

,q;F rptg;G> ePyk;> gr;ir> nts;is epwq;fs; vd;gd KiwNa  

R, B,G,W vOj;Jf;fisf; Fwpf;fpd;wd. xU Nghl;bahsu;fSf;F  

,U jlitfs; re;ju;g;gq;fs; toq;fg;gLk;. 

 

i) ,g;gupNrhjidapd; khjpupntspia mUfpy; cs;s 

   nea;aupapy; " × " Fwpia ,Ltjd; %yk; fhl;Lf. 

        

         ii) rptg;G> ePy epw ,yf;Ffspy; VjhtJ ,U  

epwq;fis khj;jpuk; RLgtu;fs; mLj;j Rw;Wf;Fj; 

njupT nra;ag;gLthu;fs; vdpd; me;epfo;itf; fl;lkpl;Lf; 

fhl;b> mjd; epfo;jfitf; fhz;f? 

W G 

B R 
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b) fky;> tpky; Mfpa ,UtUk; ,j;Jg;ghf;fp RLk; Nghl;bapy; mLj;j Rw;Wf;Fj; njupT   
nra;ag;gLtJ njhlu;ghd epfo;r;rpfisf; Fwpf;Fk; G+uzkw;w kutupg;glk; fPNo jug;gl;Ls;sJ. 

A =  { mLj;j Rw;Wf;F njupT nra;ag;gly;} 

A’ = { mLj;j Rw;Wf;F njupT nra;ag;glhik} 

 

 

 

 

 

 

 

 

 

i)  fpisfspy; cupa epfo;jfTfis vOJf? 

ii) ,Utupy; xUtu; mLj;j Rw;Wf;Fj; njupT nra;ag;gLtjw;fhd epfo;jfitf; fhz;f? 

           (2 + 3 + 2 + 3 = 10 Gs;spfs;) 

 

5)a)  Fwpj;jnthU ghlrhiyapd; f.ngh.j (rh/j) ngWNgW njhlu;ghd gFg;gha;T> tl;l tiugpy;  

fhl;lg;gl;Ls;sJ. ,q;f PQ Neu;Nfhl;ilf; Fwpf;fpd;wJ.  

 

 i)   Miur;rpiwf;Nfhzk; 𝑥° MdJ Miur;rpiwf;Nfhzk; 𝑦° I tpl 

         20° My; $baJ sdpd; 𝑥°, 𝑦°, 𝑧° vd;gtw;iwf; fhz;f?  

 

 

  ii)    A ju rpj;jp ngw;w khztu;fspd; vz;zpf;if> S ju rpj;jp  
  ngw;w khztu;fspd; vz;zpf;ifia tpl 3 FiwthFk; vdpd; 
  xt;nthU jur; rpj;jpfisAk; ngw;w khztu;fspd; vz;zpf;iffisf; 
  fhz;f? 

 

 

 

 

 

 

A 

A’ 

A 

A 

A’ 

A’ 

tpky; fky; 
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........ 
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b)    xt;nthU juq;fSf;Fk; cupa tFg;ghapilg; Gs;sp fPNo jug;gl;Ls;sJ. mjidf; nfhz;L 
   tiyAU tiuaj;ijg; G+uzg;gLj;Jf. 
 

 

            

                                        

   (2 + 4 + 4 = 10 Gs;spfs;) 

 

tFg;ghapil juk; khztu; 
vz;zpf;if 

00 – 30  W       …… 

30 – 50   S       …… 

50 – 60   C       …… 

60 – 70   B       …… 

70 – 100   A        …… 
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